QU'EST-CE QUE LE CADEAU? (G)
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Quel nombre se trouve dans chaque cadeau?
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QUESTG-CE QUE LE CADEAU? (G) SOLUTGIONS

Quel nombre se trouve dans chaque cadeau?

80 + 10 = 8 54 + 9 8 = 7
80 + 10 = 8 81 + 9 9 = 3
8 + 4 = 2 35 + 7 8 = 10
60 + 10 = 6 36 + 6 5 = 9
24 + 8 = 3 16 + 2 4 = 8
15 + 5 = 3 36+ 6 6 = 5
54 + 9 = 6 72+ 8 4 = 9
12 + 2 = 6 25 + 5 5 = 8
24+ 3 = 8 10 + 5 10 = 10
10 + 2 = 5 70 + 10 9 = 8
90 + 9 = 10 B 27 + 9 9 = 6
15 + 3 = 5 12 |+ 3 7 = 3
6 + 2 = 3 45 |+ 5 3 = 2
14 + 2 = 7 72 1+ 9 10 = 4
18 + 2 = 9 24 |+ 8 10 = 6
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